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Cluster: 0147 ptr; resid: 0.26; r/c: 28/77

x.range

upstream meme PSSM #1; e=220

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=7.4e+03

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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10499

13675

51279

18622

2087

32940

21882

36733

37740 38545

39916

44829

45071

45193

45320

45334

46534

47159

47619

47678

48150

48837

49526

49527

49771

50189

52607

55197
string −500 −400 −300 −200 −100 −1

39916NA
46534NA
45193−0.02
47159−0.03
47678−0.07
13675−0.07
55197−0.18
47619−0.59
10499−0.87

2087−1.28
45320−1.45
21882−1.52
49527−1.77
44829−2.04
45071−2.06
48837−2.18
50189−2.33
18622−2.37
48150−2.58
51279−3.84
38545−4.45
37740−5.78
36733−6.09
49526−6.32
45334−7.55
32940−7.58
52607−8.20
49771−10.66

log10(P) upstream meme1 2 log10(P.clust)=−3.15; 28 seqs; 27 uniq
c(0.5, 2.5)
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